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Inference rules

{a=p8a} = B
{a= 3,8} F -«
{aANB} F «
{a, 8} F anp
{a} F avp
{avp,—a} = B
asf = fea
aspf = (=)A=
a=p = -aVp
aANB = BAa
aVp = pVa
(anB) = -aV-p
—(aVp) = —an-p

Task 1 - Propositional symbols

symbol ‘ meaning
R it rains today

Task 2 - Knowledge base

# | sentence
1| P=Q
2| P

T o W N =

= e~ o~ o~~~ o~~~ —
= O O ~N

—_
w co
NN S N NI N N N b N

~ o~~~
—_
[\

—
W



Task 3 - Inference

# ‘ inference rule ‘ inferred sentence

1-2 | from KB see above
3 | rule 1 applied to 1+2 | @



